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mE =2 =
*x* F A& BAENE = Hhigi N = WEMESR
I GHRE HAX=¢t 20 50 70
ARt #HE 20 50 70
A=t KAM 20 50 70
g 30 50 80
NAEE B4t 10 50 60
9)ITA +HE 20 50 70
et FREX 40 50 90
imEE st 20 50 70
- TM272)74—X B3t 20 50 70
N |BREE 30 50 80
§ At BFREE 20 50 7 0
BEHEE A4t 30 50 80
REIA—T54 X %A1t 40 50 90
e vEDY 30 50 80
et FHKEIE 30 50 80
B E a4t 20 50 7 0
At BHIXE 20 50 7 0
M=t FLAA 30 50 80
L4 10 50 60
ILARTER #rX=4t 20 50 70
At SERE 20 — 20
At hoFaw 40 — 40
et ERES AAARXZH 10 — 10
;‘ Bta mE 30 _ 30
z |t PEEER KRZE 30 — 30
HARZEMRASHE KRXE 30 — 30
A=t FAE KErXE 30 — 30
EMEBIE st 20 — 20
TE/AEME R Hhigi N &
Bt ME=R X5 MES

90~100 50 G2 50
85~809 40 #HA 25

80~84 30

75~79 20

70~74 10




